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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Copper deficiency caused -

BN a1 S FAT F A GERT B E

Options:



Anemia

z.

Wilson disease

3 F’.F{_"\!"E; ﬁi ]:l ‘:
Rickets
PRACEA
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

Which of the following alkvlating agent used as disinfectant ?

=1 § 9§ $9-TT Uochlsalc? oo &l swErd FAgsmas usef 8§ 2ar 2 7

Options:
Merbromin

* *

Silver nitrate

HedY Alge.C

Idouridine

= 3 -.,55 ] ‘]‘E |g"r

Glutraldehyde
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Lysine is a limiting amino acid in :

ST ST 3 3fed | H uTar S @
Options:
Wheat

M



Corn

S_WH

All of the three
i GGl
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Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Examples of goitrogenic foods are ... i T ;

%

MECioi-e ErEl BT FaeNy =+ Bid &

Options:
Turnip and corn
oxfT Ud e

1.

Rutabagas and okra

Raw cabbage and turnips
hod] dks ol Q_C: 23

Cassava and lettuce
Tl g oIy
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following is trace element ?
=l 3 9 SF-ur ggq da 7 ?
Options:

1 Ca

K
2.



.
=
(B[]

Na
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Correct Marks: 3 Wrong Marks: 1
Question Label : Multiple Choice Question
The nutrient needed for a healthy immune system and strong connective tissue

15 :
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Options:
Fiber

| TBTEEY

Vitamin K

facifiq K

Vitamin C

faerfdq C

Fluoride

TANISS
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Juestion Label - Multiple Choice Cuestion

As per the USDA guidelines human being need following serving of bread,
cereal, rice and pasta daily :

ISDA fEenqel & SgEN U #A-a &l Ufdfad = 313 4 &8, Bdcl o, d1dd
Td OTYal & WA\ Bl dNey

Options:

1-3
1

4-5
2.

6-11



12-15
4.

Question Number : 8 Question Id : 5431079431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Choice Question
Bleeding disease is due to deficiency of :
@teT 9EN fhg faef@s @ &5 9 8y 2 ¢

Options:
Vitamin A
. faeriT A

Vitamin D

zﬁé_r_'Tﬁ:FlD

Vitamin E

. eI E

Vitamin K

41—E?TFH=7L
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

The blood vessels that supply blood to the walls of the heart are called :
Y dTfEet W1 Yad B ged & s # T ggandl @

Options:
Coronary arteries

1 (}: H:|-_-|é 2 -_—||-:| J_]-.

Coronary veins

r!u\| T -_-|5 qi[

Aorta

oAl

Sllp erior venacava

- Y et
4 Qi -j \'_}..]f_ {';'_-|I'.FJC;|
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Aflatoxin is produced by :
AFATEIRTT @ SUe- 91 g1 B € ¢

Options:
Aspergilius sp.
TR A YT

Salmonelia sp-
ATeAMeT W

Fusarium sp.

b
H.]'\EI. x_’~'.]1:| 2 A
L%

Streptococcal sp.

., .
4 "‘-\.E‘T: r:ll' '::l:;{ q‘*‘-\. |‘3
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Spoilage of fresh meats occurs due to:
YT (A1) 11 & fdaeed 4 @ 8/ Hee: Bl -7

Options:
Bacillus =p.

i o ST .
gl SHI

Pseudomonas sP.
RIS A

Alternaria sp.

H:I ?E_ = -:< "r; \'.\. xl'\. 3

All of the three
4 T H A
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Which of the following is used in meat curing ?
dre FIeT ufdear # 997 &1 99TT 16T §
Options:




CaCl>
NacCl
NaNO-»

NaBr
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion
Which of the following is the soluble vitamin ?

M H Y T | Hemee faeiEe s g 7

Options:
] Vitamin A

5 Vitamin Byo

= Vitamin Bs

y Vitamin C
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is responsible for Plague ?
FfefEd 5 ¥ ©FT & oR$ ®E-91 & 7

Options:

Y I. spiralis

T . notatum
2.

P notatum
=

P. Chrvlogenum
4. :
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Potassium sorbate is used as -
L s B = b i 5, o
UICIRHH HIEC &l g5dH el 159+ v oW Bidl &

Options:
Flavour enhancer

1 G t‘."-'_"\!:. :"r %ﬁ

Prezervoire
5 HEF & aN I

Acidulent

b

= Eﬂ_-l-(_‘r{ r:lfr.-l;.. Bl

=l

None of the three

, W o
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Swiss cheese is produced by :
Sywiss cheese T 9dIe4 4 1T 60T © -

Options:
Prnpinnib acterivum shermand

o B e T - i, i
MWL HYAA]

1

Streptococcus thermophillus

Qﬁ'?_:' r}'.-xl i 5-.'3|1:i TF, kS

Lactobacillus bulgaricus

5 CICHIe e NG

Leuconostoc sp.
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Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question



Which of the tollowing enzymes are involved in rancidity :
T ) 4, & h 0y [ 4 A
M9 5 § ®&H-9T 34129 v Hilscl & &NE 8ldl & 7

Options:
Proteaze
i qifeTs
Lactaze
2. E{ rf(}_*._?:‘
Lipase

i h¥] |
e

Catalaze

5\ A
= el B
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Correct Marks: 3 WrongMarks: 1

Juestion Label - Multiple Choice Cuestion
Cyclodextrin is which type of sugar ?
Cyclodextrin /=1 4 9 59 Upw @1 TR 2 7

Options:
Disaccharides

slaHbES

Trisaccharides

e

clsdPils s

Monosaccharides

L Ve T, TR,
L

2. it

Polysaccharides

oA
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the tollowing is non reducing sugar ?
=1 § | $-91 A9 reducing sugar (FH1) & 7

Options:



Glucose

i !

1 T |_;I (ﬁ \E‘

1

Fructosze

a3
i :'E' Mk

2.

Lactose

"

Sucrose

L3
A

4.
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Ilets of Langerhans are :
oved @ HTEelcy © ¢

Options:
Small tubules in kidney

1;?3 4 BIel] Afct® U

Prezent in pineal gland
ifeerer R 4 Ao

ra
P

Ductless glands in Pancreas
IR H Saeod Toied

Prezent in liver
IR ¥ AlGE
Ly
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Which one of the following is egg layving mammal ?
FEATIRET H B S eI & 7

Options:
Echidna

RS



Kangaroo
5 GRS

Bat
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Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

In the liver alcohol is converted to :
AP H TG @] gRafid fhar 9 g

Options:
Caffeine

Acetone

THIe

Acetaldehvde

\:KI‘”'Jlf’\'E'JE:IEéFl

All of the three

, T
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

The important sugar in honeyis ...........__..
9TEG H Hevaqul IR z |

Options:
Lactose

1 {_:’[f}cx \..‘_‘|
Fructose

o AT



Maltoz=e

3 AT I

clucrose

TR
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Viticulture is related with .............. y
‘ S H Hafd 2|

Options:
Grapes

Pine Apple

Orange

CIEE

Strawberry

4, TN
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

What is the number of the Chromosomes affected by Turner syndrome ?
7% fiem ¥ uaifag wEME &1 g feaar & 7
Options:

44
1.
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Ornithophily refers to the pollination through which among the following ?

tfentreh fr=forfag § 9 59 o oreog 9§ W & 9efia oear & 7
Options:
Wind

Inszects

> r.nE

Birds

T

Water

Question Number : 27 Question Id : 5431079450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Cell or tissue death within a living body is called as :
Siifad SRR @ ¥IaN PIEHT A1 Fdd I He Bl Hel oIl @ :
Options:

Neutrophillia

Nephrosis

Necrosis

Ry
i Ee e

None of the three

S H T

Question Number : 28 Question Id : 5431079451 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question



Which group of animals of Charles Darwin best known for studying ?
e Slfae f6d WHE & g9 & g ST oier € ?

Options:
Whales

[® iy

1.

Birds

5 TE]

Feral cats
. STl Tafeerl

Lizards

P IRLEET
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

'ELISA' test is employed to diagnose :
Options:
Cancer

Polio virus
o TITeTaT araRyg B

AIDS antibodies
, TS GO
Tuberculosis bacterium
quiee Siramn] &1

4

Question Number : 30 Question Id : 5431079453 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label ; Multiple Choice Guestion
The green house effectis due to:

1 BS99 U4 & FRI T

Options:
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Question Shuffling Allowed : Yes
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

When was the first complete census of India conducted ?
IR @ FUH 0T FAIUET FE @) 78 off ?

Options:

1 1831

5 1891
1901
=,

1951
4.

Question Number : 32 Question Id : 5431079455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Damodar basin is known for which of the following ?

aTaTeY afge Aeferag 5 9§ fow & oo o= o 8 7

Options:

Natural gas

8



Question Number : 33 Question Id : 5431079456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Question

Diseases are broadly grouped into infectious and non-infectious diseases. In the
list given below, identify the infectious diseases.

Tl T TS WY U HhEE R R-HhHS I H aier T 2 | A a1 T 9E A,
HeBTHh 9 @ gEar 6y

(i} Diabetes (i) Influenza (iii) Allergy (iv) Small pox
HEgHE ERGIVE || Tt THIE i
Options:
(1) and (ii)
, ® 3T (i)

(i1) and (iii)

5,

5 (i1) A (111)

(iii) and (iv)
(1) 31T (iv)

(ii) and (iv)

. (i) 3 (@)
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

The disease chikunguniya is transmitted by :

Options:



Female Anﬂphelez
qT1eT UATGeiral 8N

Aedes mosquito

o
Walal Hzox gixl

Z

Housze fly
eVe] 9ol BTN

Cocroach

4 -';';':_"":;_g Eix

Question Number : 35 Question Id : 5431079458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

Black revolution is related with -
Hlell I~ Hdfedg g 7

Options:
Coal production
BT IodIeA

1

Petroleum

Horticulture

Agriculture

t!'.ll q
4 °
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Which of the following country is not a permanent member of UN Security
Council ?

frferfaa § & ®F-91 <% Jo Yo [RE URYE @ Wl wewd 78 ¥ 7

Options:



Germany

1 *._TEHI-;

France
o P

Russia

3 B4

China

4.?ﬁ:[
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Correct Marks: 3 WrongMarks: 1

uestion Label - Multiple Choice Cuestion

The World Environment Day is celebrated thrcmgh out the world onn ...
every year.

w=gol fawd | ‘faeg yaieRy fegw ufdey fed o= 59 wier 2 2

Options:
May 8

j & HR

July 11
, 11 g

June >
3 5
August 27
27
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion
Who wrote 'Prithviraj Raso' ?

TG YT = forgr ?

Options:



Ban
L |

Chandabardai

Laxmidhar
LA

Jaichand
-._.‘_‘| ;I.: T:l ":n.,
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which foreign traveller accompanied Mohammad Ghazni to India ?
P4 facell Il Jee T4 & 91 |G AT o 7

Options:
Ihn-Batuta

1.

Al-Masudi

S

Al-Berumni

Abdur-Razzak
i A f_{'ﬁ.'—m'l?ﬁ
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

A food chain consists of -
wTeE] HEe H | 2

Options:



CUTLE".JII'LE‘I' Dlﬂ:t.'
el IO

Producer, only

Hdol Icded

Producer, and consumer
goalao =T SYHd

Producer, consumer and government
FoqTgch, IUUTERI a2l UIHN
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No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Whose terms, among the following, was longest as Chief Election
Commissioner in India ?
= H 1 fods Sd®d 9Nd @ g g1d RSN & w9 H Hed ofEr o ?

Options:

T. N. Sheshan
, Clo o T8
M. S Gill
5 UHo UHo ﬁ:]?l'

B. B. Tandon
5 o dlo &1

. 5. Krishna Murty

4, Clo THo Fw AR
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Juestion Label : Multiple Choice Question

The 'Sarva Shiksha Abhiyvan' aims at :
Tq e g &1 959 ©

Options:




Universalization of Primary Education

e fO1em &1 HrawifEET

Univerzalization of Secondary Education

aregtie e &1 GrgHifasyT

Universalization of Higher Education

=g T &1 AEHIHE

Universalization of Girl Child Education

-\. ~ [
gTicTepT {2AT &1 ATHIHSRT
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

Indian Income taxis :
YT & AT BT 2
Options:

Progressive

L R
1.

Proportional
SIS EIIGET

Regressive

Indirect
HUTIA

Question Number : 44 Question Id : 5431079467 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Which of the following sector has experienced maximum growth rate in India
in past few year ?

o=t A 4 T &5 | 9rd ¥ g eX AEeaq @ 8 ?

Options:



Agriculture
Eakl

cervices

Industry

5

Manufacturing

41%?1":@:#”1
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Venusisthe ... . planet from the sun.

-7 o i R TE 2 |
Options:

1st
nd

ard

4th
e
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The poisonous gas accidentally released in Bhopal Gas Tragedy was ?
ATl 9 HCAT § gHeAdY off wevel 19 fdd T8 ol 9ger IH Jm 2 v

Options:
Radon

1 'k\gl;



Benzene

ZW

Methyl Isocynate
. Henge sgafae

Uranium

5
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Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Which layer of atmosphere contains ozone layer ?
aRHsd @ fdd 9Xd H S WRd § 7

Options:
Troposphere
T HHTS

Stratosphere
wHOY AVSod

Ionosphere
HTH HU=¢

Mesosphere
HEOH HUsdA

Question Number : 48 Question Id : 5431079471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Guestion
The SI unit of intensity of sound is :
e @1 TF B THo IMMFo THIS T & 7
Options:
Watt per kilo meter

1

Watt per square meter
giel RN Hiey dle

z



Kilowatt per square meter

Sm'-%‘.rwq-rf 7N Hiex fadl 9re

Kilowatt per meter
gt JiexX far 9

4.

Question Number : 49 Question Id : 5431079472 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion
The provision for 10% reservation to Economically Weaker section of society
has been made by :
AT & e 9 ¥ HHAR @ BT 10% SNRET & &7 Uaee fhge gRT faan
R E21
Options:
103rd Constitution (Amendment)
wHfga @ 103d WIS g1

1

102nd Constitution (Amendment)
, fAEH & 1024 HeEE g

100th Constitution (Amendment)
5 GfEEE & 100d HIEH g

99th Constitution (Amendment)
4 GfAE @ 999 WA &

Question Number : 50 Question Id : 5431079473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Bee-keeping is known as :
HHRE] Trei- I @1 del Wil g ?

Options:
Sericulture

4 Uy
Apiculture

4 AT



Vermiculture

= P by RS FRALE R e

Pisciculture

s oo
4.
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion
Which of the following Microorganism is used in bread making ?

g€ @ # Frefafad # 9 59 geroid &1 9de gl v

Options:
Yeast

1.3,Q1£|'|T{

Bacteria

N
sl [[¥4]

Mould

5 T

Virus

=i

AN

Question Number : 52 Question Id : 5431079475 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Sugar found in Milk is :
gY ¥ 9T Wi 9Tel e a4l € 7

Options:
Glactoze

Lactoze

Fructose
i ARG |



Mannos=e

o

4_II*_'-|'I-_5T
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Numbers of chromosome (2n) is human beings is
AW H U A 9Tel BEWE (2n) B FET 8

Options:

42
1.

44

43

46
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

Nuclear Power Plant Kaiga is located at :

-

ATaS o T§OF BT el Heg £ 7

Options:
Gujarat

g, TS

Tamilnadu
2 LS i '\3

Karnataka
3 Gl | GE

Maharashtra

g, MRS
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Correct Marks: 3 WrongMarks: 1



ouestion Label : Multiple Choice Question

Who among the following presided the historic Lahore Session of 1929 of
Indian National Congress ?

f=fefiad § 9 599 1929 & WA W™ Hia9 & Ulaeidd oer fEdes &
ETEr wy oy ?

Options:
Pandit Jawaharlal Nehru
, ST Y a1 T

Lala Lajpat Rai

Rajendra Prasad
= Mols UG

Pandit Motilal Nehru

Question Number : 56 Question Id : 5431079479 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

The famous Chinese traveller Fahien came to India during the reign of :
U =T AT WwIEnT hee TTEe e H 9N omar 91 7

Options:
Harshavardhan

5

RLEEE

Kanishka
T

Chandragupta II
2 ﬂ%t g I

Samudragupta

g NS

Question Number : 57 Question Id : 5431079480 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question



Which one of the following Grand Slam title is also known as "Rolland Garroz"
title ?

TeToRag 8 o g e " @ Jeive N 9l $el e 8 7
Options:

Australian Open
1 EI'| [-c.-;’r':*[":l-; E‘-ﬂ-q:{

Wimbledon

5 dH g

French Open
5 el 30
U. 5. Open
, To THo I

Question Number : 58 Question Id : 5431079481 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

The following statements are about environment :

frr=iferae weor uaieRe & fava § € ¢
A. Environment is the sum total of all surroundings of a living organism,

B. There are interactions between living and non-living things both in the
enviromment.

TR H g 927 3hWd g1 ugiell © A7 afafear g6 2 |

Select incorrect answer :
Teld gy g

Options:
Only A
i Thad A
Only B
5 Fi.'.“']-._ﬁ B



Both A and B
5 AT B I

None 15 incorrect

i g Told T8l 2

Question Number : 59 Question Id : 5431079482 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

The following statements are about ecosystem :
A The biosphere is divided into ecosystems.
Waged UREifas 99 ¥ d@e7 2|
B. Living organisms along with physical factors in a definite zone constitute

an E‘CDS}’SJ[EIIL.
UF HivEd 99 § Hifow oxal X widi @ ard giREfae  F &1 e s
|

C. There are dynamic interrelationships betvween organisms and their physical
environment.
wiTdl 3N AIfge uAtawer & g5 iae SaRgey U ol © |

Select correct answer :

gel 9y gy

Options:

Onlv A

IWA

B and C
= Eq?; 2

A Band C
y A BUE C

Question Number : 60 Question Id : 5431079483 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion



What is intraregional migration ?
3= &9 Udwi oy Eed & 7
Options:

Village to village
] Mg | 7d H

Country to country

EF’EJT?“‘H:I

City to village
IEY 9 g H

Within a region

F T YA

Sub-Section Number: 3
Sub-Section 1d: 543107181
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5431079484 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Find the missing number in the following series

TeferfEd STt | o HE S diiv
8 24,12 7 18,54

Options:
26

Question Number : 62 Question Id : 5431079485 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



ouestion Label : Multiple Choice Question

Find the missing number in the following series :

=1 2oigi 5 o g S@d ey

2/3,4/7,?2,11/21,16/31

Options:

10/8
1.

6,10
2.

Question Number : 63 Question Id : 5431079486 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Cuestion

Fill in the missing number in the follov ving arrangement based on some
principle :

®o gt W AT F @ § g a9 9y ¢

S 6 +
3 ? 7
14 le 18
Options:
1. <
5
2
b
=
8
4,
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Correct Marks: 3 WrongMarks: 1



Question Label ; Multiple Choice Guestion
Find the missing letters in the following series :

=1 #oit 4 o= guiETen Sid St

QAR RAS, SAT, TAU, ..

Options:
UAV
..

TAS
z.

UAT
o

TAT
4,

Question Number : 65 Question Id : 5431079488 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Find the missing letters in the following series :
=1 ol H o auiHTer S i

BERT; GEHT, HLIT, <oooonies , MLNT

Options:
. OLPT

LLMT
2.

KLMT
>,

KLLT
4,

Question Number : 66 Question Id : 5431079489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Find the next pair in the sequence :
A H ATAl Wlel g Hitdag

C=-3,E-6G-121—24 K—=45,.. .. ......c0

Options:



1.

M -96
5 L-96
et 0-45

Question Number : 67 Question Id : 5431079490 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

It '"CERTAIN' is coded as 'XVIGZRM' in a particular code language, then how
'MUNDANE' be coded in that language ?

gfg 'CERTAIN' 3819 @ #M91 4 'XVIGZRM' & &Y 4 & & 141 2, 99 39
49T § 'MUNDANE' &9 @ fear S 7
Options:

NFMWZMX

VMZWMEN
NEFMWZMV

MIMXZMV

Question Number : 68 Question Id : 5431079491 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

In a certain code, MOTHER' is written as ' OMHURF'. How will 'ANSWER' be
written in that code ?

Haqd e § 'MOTHER' %1 'OMHURF' & ®U 4 for@r 741 8| 'ANSWER' @&l
¥ oC H By o SEE ?

Options:

1 NBWRREFE

, MAVSPE



5 NEWIRD

J NAWTIRF

Question Number : 69 Question Id : 5431079492 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

In a certain code, 'COMPUTER' is written as RFUVQNPC'. How is 'PRINTER'
written in the same code ?

HiaTd ®e H 'COMPUTER' %1 'RFUVQNPC & %u ¥ fera@r 7ar €| 'PRINTER
P g4 T H By foren Fre g 7

Options:

RFUOJSP
1

PFUOJSR
2.

_ PSTOUFP

i RSJOUEP

Question Number : 70 Question Id : 5431079493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

If A stands for 5, B for 6, C for 7, D for 8, and so on, what do the following
numbers stand for 22, 25,8, 22 and 5 7

e A,5 ®IU® & B, 6 @1, C, 7 &1, D, 8 & T 39 THR AW ¥, 4= I=1¢
22,25,8,227d 5 fovegr warw & 7

Options:
i PRIYA
5 NEEMA

3 MEENA

i RUDRA



Question Number : 71 Question Id : 5431079494 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Choice Guestion

In a certain code language, '526' means 'skvy iz blue’, 24" means 'blue colour’,
and '436' means 'colour is fun'. Which of the following digit in that language
means 'fun'?

HTT HE AT § '526' @ Faed & TR ATel 2, '24' &1 gadd & el T a9l
'436' 1 HOEE W AAG-TATE © | 30 AT A 9 H U {6 ofd @1 Agee STHiE-
Options:

I._,=I

ki
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion
Choose the word that is least like the other words in a group.

s I S B H o wea] @) A BH W HA ©

Options:
Moon

= ]

Sun

,

Universe
z H#VS

Planets

4 TE

Question Number : 73 Question Id : 5431079496 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question



Find the odd pair of words :
Tree] & 99 g &1 3 Py

Options:
Room : House
1 thHY] © EY

Atom : Electron
URATY] : oldg i

Car : Engine
-’:FJ X 31—-7—|

Milk : Water

4.15121--'{'57
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Find the odd number pair :
e HEAT g7 BT FIT HIY

Options:
i 5 St

il
[

Question Number : 75 Question Id : 5431079498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Find the odd number pair :
999 ST g7m @1 udl oSy

Options:

h:2
1.

637
2.



Question Number : 76 Question Id : 5431079499 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Find the odd letter Sroup :
faoA gui g S STy

Options:

BCD
s

MNO
z.

KLM
ik

POR
4.

Question Number : 77 Question Id : 5431079500 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Find the odd letter group :

e @l HHE S Bt
Options:
y XUw

DAC

Question Number : 78 Question Id : 5431079501 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question



As Pen' iz related to 'Ink’, Needle' iz related to :

Wi Herd Wel | el 2 gs HelEd ¢
Options:

Thread
: e

Cloth

Stitching
 Reeé

Art
4wq‘#

Question Number : 79 Question Id : 5431079502 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

'Science’ is related to TLaboratory’ in the same way as 'Astronomy’ is related to -
TIsT< Haled © JArTenel |, g9l YN W9e fdsi- HefEd § ¢
Options:

Observatory
del el H

Telescape

Clelthld 9

Space

3 aveg o

Station
p TIHE 9

Question Number : 80 Question Id : 5431079503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Victory : Encouragement : : Failure : ?

]

faeTey ;: UToHTES @ © %ol ;@ 7

Options:



Bad

i, 39
Defeat
NI

An ger
e

Frustration

4 =

Question Number : 81 Question Id : 5431079504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

Interview : Job : : Armistice : ?
a [t [ -~
HIETCPIY : AP < - GFIA¥H © ¢

Options:
War

Treaty

o W

Anmes.tj_:

3 NTSIETHT

Agreement
p THEAT

Question Number : 82 Question Id : 5431079505 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

A has three children. B is the brother of C, and C is the sister of D; E, who is the
wife of A, is the mother of D. There is only one daughter of the husband of E.
What is the relation between D and B ?
AFTEIATHEIBCH IS EIC DB TEIE EW A Il g D & Af
21 E® Ofd @ Tael Us ¢l €1 DUd B 4ig &1 9+ © 7

Options:



B iz brother of D

BD®IH:E &

B is not related to D
B, D &1 %=1 8] &

Dissisterof B
D,B®! 989 ©

None of the three

o H ¥ W e

Question Number : 83 Question Id : 5431079506 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion
Anil introduces Rohit as the son of the only brother of his father's wife. How iz

Rohit related to Anil ?

Sfrer 5 AR @1 IRew I o @ I B gHeT WE F 9 F FT F Fww
Ifed & IFa 9 T ddyg 2 7
Options:

Son

e
1.-\_'1

Uncle

=

Son-in-law
E'| E":

Cousin

4_H?ﬁﬁﬂ

Question Number : 84 Question Id : 5431079507 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion



Pointing to a woman in a picture, Amit said 'Her granddaughter is the only
daughter of my brother’. How iz the woman related to Amit ?
TN H Al B SN FUN Ha g¢ HAG F HE THD UM WY AS DI UHATS
aCl T I afee @1 afag 9 T R g 7
Options:

Sister

T84

Grandmother

2. il

Mother-in-law
HYH

Mother

g

Question Number : 85 Question Id : 5431079508 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

uestion Label - Multiple Choice Cuestion

Chintan walked 15 km towards west, and then, he turned left and walked for
20 km. Then, he moved towards east and walked 25 km, and finally, turning
lett, he covered 20 kin. How far was he from his starting point ?

o af¥am @1 dR 15 0 =aar & 920 dovard 98 9 gedl € o 20 foH
a2 TS 9% 98 R B AR A £ U9 25 A G @ oan o an
gedl 2, 98 20 {54 & gl 99 Nl € | 98 AU ANHP = 4§ o @ g 7
Options:

20 km

20 TRl

30 km
- 30 fam

10 km
=z 10 f&s

Nomne of the three

4 S H W Big

Question Number : 86 Question Id : 5431079509 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Shalini walked 15 m towards south, took right turn, and walked 3m. She took a
right turn again and walked 15 m before stopping. Which direction did shalini
tace after stopping ?
erferil SferT &1 SR 15 Hlo Iadl &, SR Sl & Ud 3 Hlo Tdell 21 98 I S
getil 2 T4 T ® Ugel 15 Hlo TaAdl 2 | Tb1 & are el & W89 e feu @)
3 oy ?
Options:

West

I qfeeH

South
SIE

North

i O
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Rahul started from Point A and travelled 3 km towards the north to Point B; he
then turned right and travelled 7 km to Point C, and from Point C, he took the
first right and drove 5 km to Point D. Then, he took another right and travelled
7 km to Point E, and finally, he turned right and travelled for another 3 km to
Point F. What is the distance betwween Points F and B ?

Vg WM A H Fo HRE HYal 2 9 ®=IF B & 9OX B AR 8 fhHlo Fodr & 98
qeaeErd 9 godl & Ve W C 9 7 fale Fofar 8 9 ®IF C 9 99 g g
forar ud 5 fdAle el D OF Fodr | I 99 U oFY 91 Arg ferar den
7 fdlo 01 E I oY far| 9 o< | 98 I 481 991 3 f&de F 0@ Tl {9
FUd B® 4 901 901 8 7

Options:
1 km
;. 1 Tio
2km
2 g HlO



3km
4 3 fhHTo

4 km
il

Question Number : 88 Question Id : 5431079511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion
A, B, C, D and E are sitting on a bench. A is sitting next to B; C is sitting next to
D, and D is not sitting with E who is on the lett end of the bench. C is on the
second position from the right. A is to the right of B and E. A and C are sitting
together. In which position A is sitting ?
ABCDUJ] E fdWde2IA BS I 961 8, C, D & &7¢] 4ol & 91 D, E
SHATE TS W g d IR MM WEICITH I TN WA WEIABWES
TR EIAWCTHhEHY fSC E| AP R wWder & 7
Options:

Between B and D
, B tgd D Hid

Betiveen B and C
5 BUd C& did9

Between Eand D
4 B Tqd D& Wi

Betiveen C and E
JERE & He

Question Number : 89 Question Id : 5431079512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question



P,Q,R,S5 T, U, Vand W are sitting around a circle and are facing the centre :

P,Q,R S TUVINW T & IRl 3X §5 & T S7h] de¥l &5 ®l 3N © :

I. Pissecond to the right of T who is the neighbour of R and V.
P,T® s/ 98 & ol Rud V&I usrl 2|

II. Sisnotthe neighbour of P.
S, P @ ysl J8l 21

III. V is the neighbour of U.
V, U@ 9eil B |

IV. Q iz not betwveen S and W. W is not between U and 5.
Q,S5TWW® dd a8 | W, UTd 5& drd 2] £ |

Which two of the following are not neighbours ?
M | W PIF ST s A 2 7
Options:

Rand V

RUud WV

1

UTand V
2 uwd v

Rand P
5 RU4G P
Qand W
4 QW

Question Number : 90 Question Id : 5431079513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

P, Q, R, 5 and T are sitting in a straight line facing north. P sits next to S but not
to T. Q is sitting next to R, who sits on the extreme left corner. T does not sit
next to Q. Who sits to the left of 5 ?

P,Q R, SUd T IT &l 3K dex] @veh Gibl Wl § 46 €1 P, S & 97 do1 & off [®
T @& 97 7al | Q, R & el 90T 8, &l 3oy a9 &+ W dar 2| T, Q & 9T &1

Options:

P
1



Sub-Section Number: 4
Sub-Section I1d: 543107182
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 5431079514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

The price of cooking oil has increased by 25%. The percentage of reduction that
a family should effect in the use of cooking oil so not to increase the
expenditm:‘e on this account is :

| =

HichiT AT BT Hed 25% b F61 8| Sl &1 Fava faad gRaN i s
® UAN H yAIEd 8 $EiaY 39 SR 49 H gig T2 @ Wil §

Options:

25%
30%

20%

Question Number : 92 Question Id : 5431079515 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

If 75% of the students in a school are boys and the number of girls is 420, then
the number of boys is:
ufy fdemed # BEl & 75% ded ¢ al @sfhdl of O=T 420 B 9 dedl o

5

HET B

Options:

3. 1,176



Question Number : 93 Question Id : 5431079516 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

The price of an item is increased by 20% and then decreased by 20%. The final
price as cc:tmpared to the arigiual pri::e 15

Afe GAF 1 DIFd 20% T dedl 28 aYl agard 20% gl 8| Jel AT DI ge]
5 &g #1H ©

Options:
20% less

20% &H

20% more
20% 3fferad

4% more

49, Ifersh

4% less

4% ®H

Question Number : 94 Question Id : 5431079517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

A man spends 75% of his income. His income is increased by 20% and he
increased his expenditure l:ljc 10%. His saving are increased l:lj.' :

U e FHl AT FT 75% W DRl € | FHD! AW 20% Th GGl & TUT GE IO
T9 10% FGIdT 2 | 9@ 99d 9gd] &

Options:

10%
1.



Question Number : 95 Question Id : 5431079518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

If the price of a television set is increased by 25%, then by what percentage
should the new price by reduced to bring the price back to the original level ?
afe  celifdws 9T @ ®IFd 25% d® dgal ©, 9 (&9 9iie U $Ed D1 qol WY
T 199 o & (oY 949 $HHg ®1 FH [Ha1 oFF 9ifey 7

Options:

15%
1.

20%

30%

Question Number : 96 Question Id : 5431079519 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

As the price of mangoes decreased by 25%, I can purchase 4 mangoes more of
T 60. What is the new price of one mango ?

Ak H BT BT 25% T Hel 21 X 60 H 4 9 SR HUF wNT WHal &) UF
HTH B AS HIET 4T B 7
Options:

»
; X5

2_?4

25 375

None of the three

, P



Question Number : 97 Question Id : 5431079520 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Question

If the length of a rectangle increases by 10%, by what percent should the
breadth decrease to maintain the same area ?

Ifg g @ TFE 10% OF@ dedl o, U@l EE%d @ a9d YEd @ oy e
qitieTd ¥ DSl @ ®F bl W=T 91fey 7

Options:

L 10%

Question Number : 98 Question Id : 5431079521 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

If the price of potatoes increased first by 20% and subsequently by 40%, what is
the final price per kilogram, if the original price was T 25 per kg ?
afe e B HIAT W Y8 20% TH degdl 2 a1 96 H 40% @, 9id e
agdl © | JfaH SEa 991 © Ife qa $Aa T 25 Ui fhdme o ?
Options:

40

Question Number : 99 Question Id : 5431079522 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question



The radius of a circle has increased by 20%. By what percentage does the
circumference increase ?

qd T e 200% d& -’-]Gﬁ 2| g ufaeda 9 ok gg ar g 7
Options:

20%
1.

40%

Question Number : 100 Question Id : 5431079523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Choice Question

The length and breadth of a reactangle are 20 cm. and 10 cm. respectively. The
length is increased by 10% and the breadth is increased by 20%. What is the
new area of the rectangle ?

afe 3ad & s Ud dies $EEn 20 99T U9 10 99 2| X 10% O gl &
qT dlels 20% O deal © | S & =41 &5 &l © 7

Options:
240

Question Number : 101 Question Id : 5431079524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Cuestion

The number of zeats in a auditorium are increased by 25%. The price on a ticket
is also increased by 12%. What is the etfect on the revenue collected ?

UEFE H Wil @ W 25% o@ dedl ¢l fede @ @A W 12% 9% dedl © |
Tt oied T¥ 97 THg E 7




Options:
i 37%

40%

42%

None of the three

A o W B 6

Question Number : 102 Question Id : 5431079525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

The average wight of 8 articles is 25 kg If the average weight of 3 of them is 20
kg. What is the average weight of rest of the 5 articles ?
8 AT W1 a9 25 f&ure 21 9fg g9° 3 &1 Sirad ¥R 20 e g a1 91t 5

Options:
26 kg
26 fhRmo

27 kg
27 TaiTo

23 kg
28 o

None of the three

4ﬁﬂfﬁﬁﬂff¢3ﬁ

Question Number : 103 Question Id : 5431079526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Guestion

The average speed of a taxi car from Town A to Town B is 35 kmph and return
journey is 42 kmph. What is the average speed of the whole journey ?

I A U HE B T ool @R B Aad =rd 35 o /HEl § T aradl A= 42
fep#to/ECT € | WHUl I 1 S =e &1 8 7

Options:



3

oy
35.5 Tpdlo Ofa He

36 kmph
36 faHle Ui ger

38.17 kmph
38.17 fvdlo ufcl Hel

C annot be determined

by

=g =21 fhar <1 9% g

Question Number : 104 Question Id : 5431079527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple CThoice Cuestion

A car owner buys petrol at ¥ 8 and ¥ 10 for two successive years. What
approximately is the average cost per litre of petrol if he spends T 4,000 each
yvear ?

Udh Y Hifcid & aFarR 991 5 € 8 927 ¥ 10 ¥ Ugra @iiear 21 Ugid @1 g

AT WS ey o TS &7 € afc a8 4000 9% 99 @9 ®edl & ¢

Options:
29
1.

%990
2.

T 8.88
3.

None of the three

4 A o T

Question Number : 105 Question Id : 5431079528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

The average age of a husband and wife was 22 years when they were married
tive years back. What is the present average age of the family if they have a
three-year-old child ?

Ufd Ud Ul @ a1y 22 99 o W S @l o Uik 99 Ugel f9dare fear e |
TRER BT FA IHET A T2 7 Iie S UTH O 99 @ 9H H g1 B 7
Options:




25 9dY
27 years
GEE]

Question Number : 106 Question Id : 5431079529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

. ot : 1 .
A train runs for 2 hrs at a speed of 35 kmph. It runs for 3; hrs at the speed of 60

kmph and then runs for 2% hrs at the speed of 70 kmph. Find the average

speed of the train :

TH o4 35 fdle /el &1 I1d W 2 =T Tiedal 2| I8 60 fhHle /Her @1 9d ™ 3

P |

HeT redl & a2 awwad 70 e /9eT & e W 2éﬂﬁ?ﬁﬁ€|§:{“ﬁﬂﬁﬁ

=Tl S DIAAT

Options:
50 kmph
50 fareio /HeT

55 kmph
55 fehHto /HET

30 kmph
80 fehdlo /HET

Question Number : 107 Question Id : 5431079530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

A man's monthly income is ¥ 1,400. What should be his average monthly
expenditure so that he iz able to save ¥ 3,600 in a year ?

U Hfad @ J1FES 3 T 1400 21 3OS 3igd 9iiad @9 & 291 9re oy
98 U 99 H ¥ 3,600 99 H HeH B OF ¢

Options:

T 1,000

1

% 1,100
Z.

< 1,150
o

21200
4.

Question Number : 108 Question Id : 5431079531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

The average of A, B and C is 50. If D is 10, what is the average of A, B, C and
D?

A BT CH 3iga 508 Ifg D10, @1 A,B,CUd DT 3iigd T g 7
Options:

15
1.

Question Number : 109 Question Id : 5431079532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question



A and B start from the same destination and take the same route. A starts at 3
am and drives at a speed of 40 kmph. B starts at 9 am and drives at a speed of
50 kmph, If the destination is 350 km away from the starting point, how far will
A be from the destination when B reaches there ?

A Td B U £ Taed 9 AN &Y € O Ub B A1 R 81 A, 8 a9 Ui gl
A AT & T 40 o /Hel & 9d IX TSl dolral 81 B, 9 & UIa: Iai-T 3TN
YAl & Ug 50 fdlo /dHer o O1e UR Tl Ferar g | afe ide ARl e 9 350
fop#io gR 2, A1 A Tiaed § fasa % 21 W9 B 9@l dgdan ¢ |

Options:
20 km
;20 T

30 km
30 fHlo

50 km

_"_}G -e: iha | L8

70 km
70 TaHo

Question Number : 110 Question Id : 5431079533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

A train completed half a trip at 30 miles per hour and the other half at 60 miles
per hour. It the whole trip was 20 miles, how much time did the train take to
complete the trip ?

TH o 30 A Ui Her WX S aren qf B 9§ o 60 Al Wi Hel W
T fomar | afe \eqel = 20 9 off, o A= 1 [ e & AU 8 @ fean a5
ST 7

Options:

90 min

, 90 =l

60 min

5 60 A1

45 min

45 fi9e
iz



20 min

y 30 f51e

Question Number : 111 Question Id : 5431079534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

A person performs half of his journev by train, one-third by bus and the rest 5
km by auto rickshaw. Find his total journey

U ferd AUl AT I £ 9 YR Rl £, U foEls 99 8N Ud g7l 5 fdHle
el e | IR FRar 2| SHa GEU AT DI SR DI

Options:
30

Question Number : 112 Question Id : 5431079535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label ; Multiple Choice Question

Excluding stoppages, the speed of a bus is 54 kmph, and including stoppages, it
is 45 kmph. For how many minutes does the bus stop per hour ?

SENd DI BIeHY 99 @ dld 54 fEHlo/HeT § a1 SeNig @ IEA ®Yd 98 45
fFHlo/deT € | gicger oy B9c 99 $aal 8 7

Options:

q
1.

Question Number : 113 Question Id : 5431079536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



ouestion Label : Multiple Choice Question

A man on tour travels first 320 km at 64 kmph and the rest at 30 kmph. The
average speed for the entire 640 km of the tour is :

U i A W Ul 320 [FHle & AU 64 fadio /Hel der @ a9r a4 @
feTq 80 falo /HET | Tetal 2 | FHY 640 fFHto amm & oy oireg 9 @ ¢

Options:

35.55 kmph
35.55 fhdlo /HeT

36 kmph
36 fHlo /HeT

71.11 kmph
71.11 f&dio /5er

71 kmph
71 THto /geT

Question Number : 114 Question Id : 5431079537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

A train whose length is 320 m is running at a speed of 36 kmph. How much
time will it take to pass a pole ?

UH oA fodel @=E 320 Hio € 36 fddlo/Hel @ Od WX §is el & | Uh EH1 &l
O &y § 39 Tha=1 999 S99 7

Options:
30 sec.
3{] @'d\s 15



Question Number : 115 Question Id : 5431079538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

A 230 m train is moving at a speed of 30 kmph. How much time will it take to
pass a bridge that is 120 m long ?

Tw 280 Hlo TR $F 80 fadlo/HeT @ AT W A Y& ¥ 120 Ho ol gol B UR
Options:

30 sec.
) 30 HhUS

32 zec.
%, -

32 HhUs

36 sec.
351'} "\::| "1\'-' LS

40 =zec.
—_L'D E:'\ '-'1\; T=

Question Number : 116 Question Id : 5431079539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion
Out of 40 students, 14 are taking English composition and 29 are taking
chemistry. If 5 students are in both classes, how many students are in neither
class ?
40 o131 H 9 14 3G @A od € 99T 29 WA fasE o 21 3fg 5 B o
Het § 2 o1 gl e § oy o A8 8 °
Options:

2

1.

Ll

I.\_,J—l



Question Number : 117 Question Id : 5431079540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cmestion Lakel - Multiple Choice Guestion

How many numbers are there betiweenn 1 and 100 that are not divisible by 3
and 5 ?

1927 100 % &1 a1 W] € Wl 304 5 9y 787 2

Options:

47
1.

i
L

(]
(W]

Question Number : 118 Question 1d : 5431079541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Question Label : Multiple Choice Question

In an examination, 52% of the candidates failed in Englizh, 42% in Mathematics,
and 17% in both. The number of those who passed in both the subjects is:

TNIET H 52% 3l UG H SRl gV, 42% U # qUr 17% T H SR g |
39 et 1w, foes gF fawal § S fear g 7
Options:

33%

1.

Question Number : 119 Question Id : 5431079542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question



In a group of 40 people, 25 speak Englizsh and 20 speak both Hindi and Englizh.
All the people speak at least one of the two languages. How many people speak
Hindi ?

40 ST & WHE 4 25 UG diefd € 91 20 251 U9 Sl ST gred 2 | 9 @

HH J T 5T 9TRN § Uh 9 e 2| feam A el sea ¥ 7

Options:

15
1.

20

[
wn

30

Question Number : 120 Question Id : 5431079543 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

If 40% of the people read newspaper X. 50% read newspaper Y and 10% read
both the papers, what percentage of the people read neither of the news

paper ?

e 40% N7 FHENR-TF X Ued & 50% &N GHEN-U9 Y Ugd & a7 10% S
TIEN-IF Ugd &, fhad Uiaerd drT $s 99ER-9F 98] 98 & 7

Options:
10%
1:
15%
2.
20%
=
25%
4.
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Section Marks: 90

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
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Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 5431079544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Select the word nearestin meaning to the civen wuord :

Emulate -

Options:
; Imitate

5 Question

Dlscuss
=

Denss
g :

Question Number : 122 Question Id : 5431079545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Select the word nearestin meaning to the given word :

Composure :
Options:

. Liberty

5 Restleszness

= Tranquility

” Anger



Question Number : 123 Question Id : 5431079546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Select the word nearestin meaning to the given word :

Unalloved :

Options:
. Calm

5 Unconcerned
Ah zuluteh-' pure and complete

Inferior
4

Question Number : 124 Question Id : 5431079547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Select the word nearestin meaning to the given word :

Skip :
Options:

Introduce
1.

Insert
z.

Naotice
o

Overlook
4,

Question Number : 125 Question Id : 5431079548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Select the word opposite in meaning to the given word:

Urban :

Options:



Civil
1.

Riistic
=

5 Domestic

Rural
4

Question Number : 126 Question Id : 5431079549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Select the word opposite in meaning to the given word:

Nominal :

Options:

" Real

=
Small

2.

. Imaginary

i Clear

Question Number : 127 Question Id : 5431079550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Select the word opposite in meaning to the given waord:
Ohbijective -
Options:

Intimate

5 Perzonal

5 Known



Familiar

Question Number : 128 Question Id : 5431079551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Select the word opposite in meaning to the given word:

Bridge :

Options:
Open
1.

Releaze
2.

= Bind

i Divide

Question Number : 129 Question Id : 5431079552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
CQuestion Label : Multiple Choice Question

Select the correct II'LEEL‘L'L‘ilIg of the given idiomatic exprezzim‘::

Take to heels -

Options:
g Challenge

5 Run away

5 Resist

i Surrender

Question Number : 130 Question Id : 5431079553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question



Select the correct II‘LE“EI_'L’IJIEg of the given idiomatic E-xprezsicm:

Look forward -

Options:
Expect
1.

5 Announce
Predict
3

Ruin

Question Number : 131 Question Id : 5431079554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Select the correct meanjrng of the given idiomatic expr =5i011 -

To have sticky fingers :

Options:
i Tobe a thief

o I'o get entangled

5 To touch oily things

” Towet fingers

Question Number : 132 Question Id : 5431079555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Select the correct meanjltg of the giﬂ.'en idiomatic exprezf.inn;

Midas touch -

Options:

y To lose money



> To give money

5 To make money easily

g A0 borrow money

Question Number : 133 Question Id : 5431079556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Select the right word to fill in the blanks in the given sentence:

Ravi usually -—— on time.
Options:
; will arrive
arrives
2.

5 could arrive

could have

Question Number : 134 Question Id : 5431079557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Select the right word to fill in the blanks in the given sentence -

I wish I ——- the answer now.
Options:

J know

5 have known

5 had knovwm

knew



Question Number : 135 Question Id : 5431079558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Select the right word to fill in the blanks in the given sentence:

Kolkata is the most ———- city in India.

Options:
populant
1.

populous

populate
=,

populace
4

Question Number : 136 Question Id : 5431079559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Select the right word to fill in the blanks in the given sentence

You have been surting internet — the last three hours.

Options:

for
1.

since

from

right from
4

Question Number : 137 Question Id : 5431079560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question



Chose the correct option to form the right sentence

We have finizhed our work,—-

Options:
) have we ?

5 haven't we

. haven't we ?

did we ?
4.

Question Number : 138 Question Id : 5431079561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Chosze the correct option to form the right sentence :

He azked me to — him five hundred rupees.

Options:

L. lend

snatch
beg

borrow

Question Number : 139 Question Id : 5431079562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Chosze the correct option to form the right sentence:

Have you read — Eng]_is.h poems ?

Options:
y much



o a little
none
=

1y’
4. "

Question Number : 140 Question Id : 5431079563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Chose the correct option to form the right sentence:

Suddenly there - a loud explosion.

Options:

WS
1,

were
&

are
=3

” had

Question Number : 141 Question Id : 5431079564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Fill in the blanks with the correct preposition :

He turned dovwm the request.
Options:

) Noun

5 Adverb

25 Verh

Adjective
4.
Question Number : 142 Question 1d : 5431079565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Fill in the blanks with the correct preposition :

The length of the play marred the impact.

Options:

Noun
1.

Conjunction
Adverb

Adjective

Question Number : 143 Question Id : 5431079566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Fill in the blanks with the correct preposition :

He made an inimical comment.

Options:

Noun
1

Verb
2.

Adjective
=

Adverb
4,

Question Number : 144 Question Id : 5431079567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Fill in the blanks with the correct preposition :

Qur team has never heen beaten.

Options:



"
L, Noun
4 WVerbh

Adverb
=,

Adjective
4

Question Number : 145 Question Id : 5431079568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

Fill in the blanks with the correct preposition :

His dress was made — silk.
Options:

mn
1.

from

of

Question Number : 146 Question Id : 5431079569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Fill in the blanks with the correct preposition :

I prefer tea — coffee.

Options:

than
1.

from
2.

with



to

Question Number : 147 Question Id : 5431079570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Fill in the blanks with the correct preposition :
Have vou applied - the post of the Coordinator ?
Options:

tor
1

at
in

by

Question Number : 148 Question Id : 5431079571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

SLﬂect the misspelt word from the group given below:

Options:
] Government

Bizzare
b
Comumittee

Ecstasy
4. E

Question Number : 149 Question Id : 5431079572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

SLﬂect the misspelt word from the group given below:

Options:

Experiential
1.



Synonymous
Vaccillate

Parallel

Question Number : 150 Question Id : 5431079573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

SLﬂect the misspelt word from the group given below:

Options:
Noticable

Diphthong

Seizure

Proverhial

Section [1 Hindi Language Test

Section Id : 543107141

Section Number : 3

Section type: Online

Mandatory or Optional: Optional

Number of Questions: 30

Number of Questionsto be attempted: 30

Section Marks: 90

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 543107184
Question Shuffling Allowed : Yes

Question Number : 151 Question Id : 5431079574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

g4 U fory fa=<1 A197 &1 faora ganm & ?

Options:



Hhd
e
|.: r

JThd
gt T

Question Number : 152 Question Id : 5431079575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

AU sIH Y b AFT H d49dl & ¢

Options:
® +H
1.

Question Number : 153 Question Id : 5431079576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

(& gl @ TaF BT

Options:

Question Number : 154 Question 1d : 5431079577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

ga B g A TTH A DA YF 2 7
Options:

f}'.lli -:1 ﬂ
'-':l:.-: FI':I g |
¥ ) ’j ‘-:l - |

1.
z.
>

GAGIDE]
4,

Question Number : 155 Question Id : 5431079578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

TNITHIR 9 H Hi-97 GRI & ?

Options:
1 et Wi

5 4" aty
5 gig |

4_§W?ﬁ‘c1

Question Number : 156 Question Id : 5431079579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

8 W TN Of% &1 SgEY BiHE-ar § 7

Options:
] AT



Question Number : 157 Question Id : 5431079580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

gH U {9 oreg § 99T &1 AT ga 2 7
Options:

FURTY

Question Number : 158 Question 1d : 5431079581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

g4 o {27 W & 9SEN S © 7

Options:

Question Number : 159 Question Id : 5431079582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

AT e 394 W fhg 9 HamEar & 7
Options:

:



Question Number : 160 Question Id : 5431079583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

g1 9 T59d e &I =TI DIV

Options:
1.

> FF

Question Number : 161 Question Id : 5431079584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

s : 5

' - T
Hicd Jeg o-? H Tehd 99 H 5 ¢

Options:
. SAlfcrardes Hail

2| |'Erv._-| dr=leh 9 =
&

HHedida sl

Question Number : 162 Question Id : 5431079585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question



Options:

Question Number : 163 Question Id : 5431079586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

§TH | PIF-T T gaT BT qATgdrE 78§ ?

Options:

1 = 5
1.

HHN
z.

Question Number : 164 Question Id : 5431079587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

‘IR BT GAEAE] I8 ©

Options:

3C|
1.

. n.‘k



Question Number : 165 Question Id : 5431079588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

"YHOT 1 [qcHRIE e 947 © 7

Options:

Question Number : 166 Question Id : 5431079589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

WTel H o T drell T @ fere wreq gy

Options:

5 r] 5 3] | :l:

Question Number : 167 Question Id : 5431079590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

e

r . b = T b i Ao by _— P i
[T ®icHdlg § Wial A & — 39 [dU 9d ¥eq &l g+ fﬁllkﬂ\i :

Options:



Question Number : 168 Question Id : 5431079591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

‘U7 98 BFT & 3 2
Options:
] gid BRAT

HERTInE

Sﬂﬁ?ﬁm BT

Question Number : 169 Question Id : 5431079592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

forefl % & ATGLGHAl W gga wH e & A2 H 94 U HH Wl © ?

Options:

1.

5 &Hc & HE H WX

A dAe F A g
2,

, T SR I SR

Question Number : 170 Question Id : 5431079593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

‘HT SAHAT @l o 3§

Options:



] qoid 2F1
> 'F':'-T-I"“ ﬁ\'*_.

Sa-frdm

" gr ;
4 I I SR BT

Question Number : 171 Question Id : 5431079594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

'HTARET & AT diF g ¢
Options:

1_:rr%=;, IRl

5 AT THG

ey
I

THAET =]
3

=g O

Question Number : 172 Question Id : 5431079595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

qeHEd fhds®! $ia ©

Options:

AicTd JEere Syl
3

4@?‘1?7—?!?:

Question Number : 173 Question 1d : 5431079596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

B2l ®T JToTET a9 o1 fAvra G fafEr & oy T ?

Options:

] 15 &1, 1947

26 WHaN], 1950

14 39 Y 1949

14 [Hda9v, 1950

Question Number : 174 Question Id : 5431079597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Options:

Question Number : 175 Question 1d : 5431079598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

fEwsl H T HReE &I 8 ¢
Options:

1.3_q?

z_mﬁ-r‘rt{

MY
=,



Question Number : 176 Question Id : 5431079599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

T {545 TS @ ¥ — 34 A § (5T @ 7
Options:

Question Number : 177 Question Id : 5431079600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Tora @1 e @ € 7
Options:

BT
1

Question Number : 178 Question Id : 5431079601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

foaey & TIEaOE] 9T & 999 By
Options:
1 IGEIGT:



2
5 9

e
4

Question Number : 179 Question Id : 5431079602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Options:

Question Number : 180 Question Id : 5431079603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

FUeT & GAH

Options:



